gooog
Ooooooon

goao

v

00000 (ooo0ooO0oU0ooOoUo)obo0oooUooo
oooooo

0. Lisp, Scheme, ML (SML, OCaml, F#), Haskell
Ruby, JavaScript, Scala 0000000000 OO0OOOODOODOO
0000.0000000, Generics, Map/Reduce

v

v

oooo ooogoo

v

No. 40 DO OOOOODOOODOOD

0000 (OO0 o0oDbOoO0O0) oooooooo ) / 0000 (oooOoO ooooo) 0ooooooo

00000 Ogoogoogo
0o00000:
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» 00000000000000000000 MM ooog
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» 000000000: 00000000000000000 0. 80oobnooonon
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» Lisp D000 0OO0OOOODOOOOOoooooooooD
» Scheme: Lisp 000 O00O00O0ODOODOOOOOODO

» ML: 00000000000 COO0O00SML, OCaml, FA#OQODO
guo

» Haskel: OO0 0000000 0OOO0OOOOOOO0O
Ruby, Scala, JavaScript 00000000000 DODOODOOOO
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DDDD.DDDD:DDD 0ddd0d:0ddd000o0ooo1o0o0o
(for, while,...)
oooooodo: ooa
int fib (int n) { ooooad ooooooo: og
int i, tmp; goooood:od oooood
int x=1, y=1; ooad int foo (int x) {
for (i=2; i<n; i++) { ) _ int y; let foo x = .
tmp = x; le? rec fib n = y = x + goo(x+1); let y = x + goo(x+1) in
X =y; if n<=? then 1 . v += hoo(y*y); let y =3 + hoo(y*y) in
y 4= tmp; else flb(n_i) + flb(n_Q) y = goo(y+2); let y = goo(y+2) in
}
return y; return y; y
} }

0000 (OO0 oDboOoO0) oooooooo ) / 0000 (oooOoO ooooo) 0ooooooo

Oo0o0ooboooboooooog 2 OO0O0000 OCaml

CO0D000000000000000000000 OCaml DO bMODDOD funx -> NOD O
. B let £ = fun x -=> x + 5 in

%ntx—lo, o ) f (f 3)

1f.(somf:conﬁ1t10n) {x=x+5;} let g = fun x -> f x + 8 in

printf ("%d\n",x) ; g (£ (g 3))

uboboboboxboboobooboboooooboobobobobo

Assignment (0000000000000000 00 Osubstitutiond | f = x+5000 g=Ax (fx)+80000
00D000000) D0D0D: 000000000000 0D f0gDO000000 - 00

00000000000 (booo)
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let foo a b 1lst =

List.map

(fun x -> x*a+b) 1st
in

foo 10 20 [1; 2; 3; 4]
==>

[30; 40; 50; 60]

0000 (OO0 oDboOoO0)

HEN

let rec foo f n x =
if n = 0 then x

goddooooooogao

obooboooooboon

0000 (DO0DO0 o0Oo00)

else f (foo £ (n — 1) x)

map0 0400000000
oo

List.map

(fun x -=> x = ".ml")
["fOO"; llgooll; ||a|l]

==>

["foo.ml"; "goo.ml"; "a.ml"]

oooooooo

gb: gbobobobobobooobobobonog

O00: fooOOOODO fOOOOIlet addlx=x+ 100000000
OO0 addl O let times2 x = x« 20000000000 times2 00O 0O

O000000: 000 mnOO0O0OOfoo (foo addlm)n0O0 0000

OopDoooooo

ubooboooog uboboboobo

let fool f g x = let rec goon f x =

g (f x) if n=0 then x
let foo2 f g = else goo (n-1) £ (f x)
fun x > g (f x) in
let foo3 = goo 5 (fun x -> x + 10) 7
fun £ -> fun g -> ==>
fun x > g (f x) 57
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(computational effect)0 00000000 (side effect) 0 0 00O
» 0 1: 0000000 (oooo)
» D2 0000000000000 00O0O0OOOOOO
» 03: 00000000000 (DOoOoOoo)

0000000000000

» 0000000000000000000000000

» 000 f(x)+f(x) = f(x) *2 000000000
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type expr =

CstI of int | CstB of bool
Let of string * expr * expr
Prim of string * expr * expr
If of expr * expr * expr
Letfun of string * expr
Lambda of string * expr (x new *)

Call of expr #* expr (x 1st arg 1is expr, not string

| Var of string

|
|
|
|
|
|
|
*)
ogn

Lambda ("x",Prim ("+",Var ("x"),CstI(3)))
Lambda ("x", Lambda ("y",Prim("+",Var ("x") ,Var("y"))))

D000 A x+30 XxAy. x+y0O0D0O0O

0000 (OO0 oDboOoO0)
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[0O (2018/5/18)]
00000000000 LetfunOO0O0OCOO0OO0OO0OOODODOOOOOO
ooodbooooooododouoboooooooooooooon
0000 Letfun OO QOO

O0O00000D00OCOOO Letfun OO0, 000200000:

Letfun ("f", "x",el,e2)
Let ("f", Lambda ("x",el) ,e2)

0000 OCamlOOOCOOOOOOOODOOODOO

let £ x = el in e2
let £ = fun x — el in e2

0000 (oooOoO ooooo)
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00000 LambdaO CallDOOODOOO

[Lambda("x", e)], = Closure(" dummy”," X", e, €)

Oo0ooooooooO0Odb0Odummy O0O0OOO0OODODOO

[Call(e2, €0)], = [el].~
where [€2], = Closure(" "," x", el,€')
v = [e0].
¢ =[("x",v)] @e

O0000:e200000000(00DL)0D00OOOODOOUOODOO
(DOODO0O0O0OO leokupO0OOOOODOOOOOODOOOODOODO)

OopDoooooo

0000 (DO0DO0 o0Oo00)

e =Lambda ("x",Prim("+",Var("x"),CstI(3))) O e=[] 000
[e], =Closure("dummy","x",Prim("+",..)) OO 0OO

[Call(e, Cstl(5))], = [Prim(" +", Var("x"), Cstl(3))].~
where [e], = Closure(” dummy"," x", Prim(" +",..))
v = [Cstl(5)], =5
=[x ] @ =[x, 5)

oooooO
[Call(e, CstI(5))], = [Prim(" +", Var("x"), Cstl(3))].»
— |[Var("x" )]]e,, + |[C5t/(3)]|€n
=5+3=38

0000 (0000 oOoooo) oooooooo
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e =Lambda("x" ,Prim("+",Var("x") ,Var("y")))
e2 =Let ("f",eLet("y",CstI(5),Call(Var("£f"),CstI(3))) O
e=[('y".8)] 000

[e2], = [Let("y", Cstl(5), Call(Var(" "), Cstl(3)))].1
= [Call(Var(" "), Cstl(3))].,

gooooon
el =[("f", Closure(" dummy” " x", Prim(...),€))]@e O O O
e2=["y",5)]C1 0000

0000 (OO0 o0oDbOoO0O0) oooooooo

ooooo2(@o)

(0ooOoooo)
[Var("f")]., = Closure("dummy","x",Prim(...),e) O0O0DO0O

[Call(Var(" "), Cstl(3))]., = [Prim(" +", Var("x"), Var("y" )]s
=3+8=11

0000000 3=["x",3)]@0000
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gbobobobooboobooooooooooon

let rec sum n =
if n = 0 then O
elsen + sum (n - 1)

int sum (int n) {
int i, res = 0;
for (i = 0; i <= n; i++)
res += i;
return res;

}

oboooood

» JO00O00OO00O0oooo0@mobooboobooboooboooboobobon
ogboboboboooobooboon

» JOO0OOobOgoboloooo0boboboboboobooooooood
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Tailcall OODOODODOODOODOOOOODOODODODOO

let rec sum n =

if n = 0 then O

elsen +sum (n - 1) ;; NG
let rec sum2 n m =

if n = 0 then m

else sum2 (n - 1) (n + m) ;; OK
let rec power n x =

if n = 0 then 1

else if (even n) then square(power (n/2) x)

else x * (power (n-1) x) ;; NG
let rec power2 n x m =

if n = 0 then m

else if (even n) then

power2 (n/2) (square x) m
else power2 (n-1) x (n*m) ;; OK

oooooooo

0000 (OO0 o0oDbOoO0O0)

ubobobobooboobooooooobobobobobooboooog

0000 (DO0DO0 o0Oo00) OopDoooooo

O

O

O

O

O

le

le

=>
=>

O

obooboobobobono:
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» 0000000000000 ODOO(DoOoOoooOoOoon)

ddoooooooooo:
» Scheme: OO00OOO0OO0OOODCOCOO

» MLODODOOOOOOOO: gooooooooooobooon
» ClavaScript000 OOOO0O0ODOOODOOOO0OOD
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t rec fact n =
if n = 0 then 1
else n * fact (n-1) ;; NG

t rec fact_cps n k =
if n = 0 then k 1
else fact_cps (n-1) (fun x -> k (n * x)) ;;

fact_cps 5 (fun x -> x)

fact_cps 4 (fun x -> 5 * x)
fact_cps 3 (fun x -> 5 * 4 * x)

fact_cps O (fun x -> 5 * 4 * 3 * 2 * 1 * x)
54 %3 x2x1=x1
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» JO0O0O0O0OoObOoOoOooooon
- 000 11g000a
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00 (continuation): D000 0DO0O0O0O0MMOOODOOODOOOOODO

let rec fact n =
if n = 0 then 1
else n * fact (n-1) ;; NG

fact 5 00000000
5 * (fact 4) 00000000 5%
5%¥4*(fact3) | DOOOODODOO5*(4%])

0000 (oooOoO ooooo) 0ooooooon

goooobobogn

0O0D00O00O0O: Continuation-Passing Style
» 0000000000000 0O0000000
» 0000000 MObO0ddddoooooooooooon

let rec fact_cps n k =
if n = 0 then k 1
else fact_cps (n-1) (fun x -> k (n * x)) ;; OK
fact_cps 5 (fun x -> x)
=> fact_cps 4 (fun x -> 5 * x)
=> fact_cps 3 (fun x -> 5 * 4 * x)

=>5 %4 % 3 %x 2 x 1 x1

cpPsSoOn:
» JO0O0OD0 ODO0O00000doddoooooo
» 0000000000 (Appel, “Compiling with Continuations”™)
» JO0000ooooooon

0000 (DO0DO0 o0Oo00)

OopDoooooo

let rec sqrt_multiply 1lst =
match 1st with
0 -—>1
| h :: t => (sqrt h) * (sqrt_multiply t)

let rec sqrt_multiply_cps 1lst k =
match 1lst with
| 0 ->k1
| h:: t >
if h >= 0 then
sqrt_multiply_cps t
(fun x -> k ((sqrt h) * x)
else -1
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